KENDRIYA VIDYALAY A SANGATHAN

REGIONAL OFFICE - BHOPAL
CLASS -V CBT SUBJECT - ENGLISH

Syllabus covered — Rip Van Winkle

(A) Read the following passage and answer the questions.

(Sarah is an artist. She loves to paint beautiful pictures. Today, she is the beach painting scenery with a golden sand
castle. Sarah also adds sea shells and colourful beach umbrellas)

Now Tick (v) correct options-

Q.1 What types of artist Sarah is?
a) Designer

b) Painter

c) writer

d) Dances

Ans: b) Painter

Feedback : a person who paint beautiful pictures is a painter

Q.2 Sarah is painting the beach scenery. in which, she made golden sand-castle, means, she has made -
a) structures of Sand

b) shells of sand

c) sea-shells

d) structure of shells

Ans a) Structure of sand.

Feedback : a small model of a castle or other structure that is made with sand on a beach is sand-castle.

SECTION-B(Writing)
Q3 Rip Van Winkle was very kind hearted but he-
a) Was not a good neighbour
b) Was very lazy
c) Did not like children

d) worked very hard.

Ans. b) Was very lazy

Feedback : Rip Van Winkle was very lazy.
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Q.4 Rip Van Winkle's only companion was a dog. His name was-

a) Lion
b) wolf
c) sherao
d) Bruno

Ans- b) WOLF

Feedback : Rip Van Winkle's only companion was a dog named wolf

SECTION C (Grammar)
Q.5 The Past tense of sentence- ‘l go to sleep' is-
a) I will go to sleep
b) I should go to sleep
c) l am went to sleep

d) I went to sleep.

Ans. d) | went to sleep.

Feedback : The Past tense of sentence- ‘| go to sleep' is- | went to sleep.

Q6. If a person is having long moustache, only one eye and a ear with two lobes. We The best describing word for
him will be —

a) Long-structured
b) well dressed

c) Odd-looking

d) good natured

Ans. c¢) Odd-looking

Feedback : If a person is having long moustache, only one eye and a ear with two lobes is Odd-looking

SECTION D: SPELLINGS.

Q7. Tick (v) the word, where ‘ue’ are not silent letters-
a) Mosque.

b) tongue

c) Cheque

d) guess
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Ans. d) guess.

Feedback : ‘ue’ is not silent in guess

Q8. Tick (v) the word with silent letter in it-
a) Kite

b) knife

c) Kaat-skill

d) Kill

Ans. b) knife

Feedback : k is silent in knife

SECTION E: VOCABULARY.

Q.9 Tick (v) the word, which means - known to you' -
a) companion

b) familiar

c) neighbour

d) friend.

Ans b) familiar

Feedback : known to you' means familiar.

Q10. Fick the correct meaning of "realise"
a) real

b) to understand

c) to set free

d) release.

Ans b) to understand

Feedback : realise means to know and understand that something is true or that something has happened.
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KENDRIYA VIDYALAY A SANGATHAN

REGIONAL OFFICE - BHOPAL
CLASS -V CBT - SEPTEMBER SUBJECT - MATHS

Syllabus covered - Can you see the Pattern

1. Which is odd one out ?

A — @~ = w( =
A i & : + — & —
= ® | — - o —
(i) (i) (iii) (iv)
Ans C

2.  How many line(s) of symmetry does this figure have?

a. 2 lines
b. 3lines
c. 4 lines
d. 8 lines

Ans. c) 4
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Feedback :

3. From the tessellation given bellow choose the correct option which shows

one unit shape of the tessellation

o
Z

A.
B.

- X X
- X X
X K
X X
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4.  What is the number represented by ?

S A

Feedback :




9

11
13
15

Ans. b) 11

Feedback : 3 apples = 30, 1 apple = 10 (Row-2)

oo oW

1 apple + 2 dolls= 28, 2 dolls = 28-10= 18, 1 doll = 9 (ROW-1)

?+1apple+1doll=30,?+10+9=30,?=11

5. Study this number pattern carefully and choose the correct answer for 7t
pattern.

1 111+ 37 3
2 222 + 37 6
3 333+ 37 9

a. 21

b. 24

c. 40

d. 32

Ans. a. 21

Feedback : Row 1 -3,
Row2 -6
Row 3 -9
Row4 - 12
Row5 - 15
Rowé6 - 18
Row7 - 21

6.  There is certain relationship between figure P and Q. Using similar
relationship between figure R and S select a suitable picture which will replace ?
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Feedback :

7.  Which of the following option is the correct mirror image of figure?

Fig. (X)

Mirror
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Ans. C

X

Feedback :

8.  Garima is facing community centre. What will she be facing if she turns 270°
clockwise?
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a. Mall
b. School
c. Park
d. Temple

Ans d. Temple

Feedback :

9.

Which of the following figure will complete the pattern?
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Feedback :

10. Which square must be shaded so that the figure has a line of symmetry?

Ans. a.P
Feedback :
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KENDRIYA VIDYALAY A SANGATHAN
REGIONAL OFFICE - BHOPAL

CLASS -V CBT SUBJECT - EVS

Syllabus covered - Walls Tell Stories, Sunita In Space

Identify

1. Who was the first man to walk on moon?

a) Neil Armstrong

¢) Sumit William's

b) Rakesh sharma

d) none of these

Ans. a) Neil Armstrong

Feedback : Neil Armstrong was the first man to walk on moon

2. Name the two movement of of Earth.
a) Rotation and Revolution

b) straight and round

c) flotation and straight

d) none of these

Ans. a) Rotation and Revolution

Feedback : the two movement of of Earth are Rotation and Revolution

3. What is kept in Museum?
a) pottery

b) clothes

c) weapons.

d) All of these
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Ans. d) All of these

Feedback : All of these things are kept in the musium

4. A shooting star is actually a---
a) meteors

b) comets

c)Bothaandb

d) none of these

Ans. a) meteors

Feedback : A shooting star is actually a meteors

5. Which state is famous for stepwell ?
a) Madhya Pradesh

b) Gujarat

¢) Maharashtra

d) Rajasthan

Ans. d) Rajasthan

Feedback : Rajasthan is famous for stepwell

Observation

1. is a big gun.
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a) tank

b) Cannon

c) Bastions

d) none of above
Ans b) Cannon

Feedback : Itis a picture of a canon

2.Why were these made in the fort wall for?

a) decoration.

b) See the enemies from long distance

c) meeting places

d) Housing for soldiers

Ans. b) See the enemies from long distance

Feedback : These structures were made to See the enemies from long distance

3. is the model of Earth.
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a) Globe

b) Map

c) Sun

d) all of these
Ans. a) globe

Feedback : this is a picture of a globe

4. Name the planet.

a) Jupiter

b) Mars

c) Saturn

d) Neptune
Ans. c) Saturn

Feedback : Saturn has rings around it.
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5. Which famous monument is this and where it is situated?

o 7 \\

a) Red fort, Agra

b) Taj Mahal, Jaipur

c) Hawa Mahal, Mandav
d) Taj Mahal, Agra

Ans. d) Taj Mahal, Agra

Feedback : It is tajmahal and situated in Agra
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